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The reservoir shown in the figure contains two immiscible liquids of specific
weights 7 4 and 7 , respectively, one above the other. ¢ o> 7 . Which
graph depicts (he correct distribution of gage pressure along a vertical line
through the liquid ? Why?(10/100)
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3. Aninviscid flow is bonded by a wavy wall at y=H and a plane wall at y=0. The
stream function is
v= A(e”‘” ~e¥ )sin kx

where A and k ate constants.(10/100)

1. Does the flow satisfy the continuity equation ? Is the f{low rotational or

irrotational ?

2. Tind the pressure distribution on the plane wall surface, given that p=0 at
[0.0].
5. TFor the flows shown in Figure below, give reasons why Bernoulli’s equation can
or cannot be used between points @ (10/100)

U is a function of time
¥ U= Uly) U= U, sinwt
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Apply 1-0 analysis

i, tand2
ii. 3and4
iii. Sand6
iv. 7and8

v. 9and 10




